INAQN

FITTING INSTRUCTIONS FOR

Rear Door Cage

SKU

KS0175/513

COMPATIBILITY

Toyota Prado 120, Lexus GX 470

Included contents

QTY | COMPONENT QTY | COMPONENT
1 Rear Door Cage 7 M5 DIN Washers
1 Spacer 7 M5 Nyloc Nuts
7 M5x16 Dome Head Cap Screws

Scan the QR code to watch the video installation guide,
or for further information contact KAON on 07 3180 1470 or info@kaon.com.au

é@ B N7 - 30 minutes / Half a beer




It all works together.

All our rear door products work together, but there is a certain order to installing.
Installing multiple products? Here’s the the best way for your configuration.

Are you installing
any Cages?

Install the Cage first,
followed by the
Utensil Cage.

Are you installing
the Clip-In Kitchenette
Sink Extension?

(Please note it has limited
compatibility with the 120)

Open the box,

familiarise yourself with

the instructions and locate
the tab, which we'll use
during the table install.

Are you installing
the Table?

Complete the install
of the table as per
it's instructions.

With the order sorted, let’s get to the good part: installing. =



Let’s get to work.

Preparation

1. Remove the rear door plastic trim
/ panel by removing two screws
located in the top grab handle. One
is inside the front handle, and you'll
need to pry off the covers to reveal
one last screw where the strap is
located.

2. Carefully pull the plastic trim off
the door.

3. Remove the net by removing the
seven screws from the back panel,
before unclipping the net.




Installation

4.

Place the supplied metal spacer on
the bottom edge between the cage
and the plastic panel.

Position and attach the cage using
the supplied M5x16 dome head
screws.

Turn the back panel over and
secure the rear cage using the
supplied M5 nyloc nuts and
washers.

Ensure all the clips/lugs are in
place prior to refitting the panel.

Clip the top part of the plastic door
trim panel first, before securing
the rest of the clips. If desired, the
straps can be cut off.

That's it, you're done!

This page is intentionally left blank.



Local Knowledge & Assistance

We know half the fun of building your dream 4x4 is getting your hands
dirty. But we also know that sometimes, things don’t go to plan. If in the
pursuit to build the ultimate setup you find yourself off-track, we're here
to help you get unstuck.

For further information call 07 3180 1470 or email info@kaon.com.au

Disclaimer: The products sold by KAON should not be modified, and are for use only on the vehicles specifically stated. KAON will not be
liable for any damages arising out of the use or misuse of it's products. It is the customers responsibility to ensure the products are safely
and properly used and installed. KAON consistently seeks to improve it's products and reserves the right to make changes to any product.



